%(2x—y)(3x+2y)—g(x—Qy)(4x+3y) o] AMAONA xy 0] AL

23 47
o> o3 o0z @F os

L (2r-)(35-+29) 91 (9 91 A)= S((-1)x3+2x2) = ol

- (e-29) (4r+3) 91 (o 91 A= (-2 xa+1x3) = 2
o,

web Fol2 A9 xy o] ASE 1 + = ¢ ol
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oH2 A A2ty ABCD ©|A4] bAGHE , oEFCD & AAHZ o],
BC=a,DC=>b< W, aGBFH 2] Wol=2(d, b<a<2b)

A E D
\
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\
b
H I
/
~ B“ ~ Al
~ -
@D a®-2p? @ a® - 4b?
@—a2 + 3ab — 2b> @ —a® + 6ab - 3b?

® —a? + 6ab - 2b?

B )
BF 9] Zo|& a-b o]t} oAGHE 7} gAIZHgo| B & EH ¢
o= q - b o]t
w2k HE 9] ZolE b - (a-b) = 2b—a ©|t}

Aot 120 YOl (a-b)(-a + 2b) = —a? + 3ab - 2b°




3. FA(x-3)2-2(x-3)-35922x? +x-69] TTU AFTE T
@ x+3 @x—l—Q ® 3x-13
@ 2x-3 ® x-10

B

x-3 =12 gt
?=2t-35=(t+5)(t—7)
=(x-3-T)(x—3+5)
= (x=10)(x+2)
T, 2% +x-6=(2x-3)(x+2)
e 5 s x+2




2(4+2) (42 +2%) (41 +2%) (48 +2°%) = 4° - 22 A W], 5= q, b
Fa+b°] F27

@® 2 @ 4 ® 16 @32 ® 64

B ~

2=4-20|B=2

(4-2)(4+2)(42 +22) (4% + 24)(4° + 29)
= (42 - 22)(42 + 22)(4% + 24)(4® + 28)

= (41— 21)(4% 4 24)(48 + 28)

= (@ -B)e +22)

— 416 _ 916

La+b=16+16 = 32




5.

y<x<O0Lu, /x2-2xy+)y2+ /a2 +2xy +)2 &

@ o @ 2x-2y ® 2x

@ 2y @—2y

VE=)2+ /(x+y)? =lx—-yl+ Ix+)yl
=x-y=(x+y)=-2




oW o] 4418 Aol x O AFE AL HIL2(x+2) (x-9) & <
2 BAlSIRAL, SO A4S BE B2 (x— 1) ¢
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Holokleh. A o)A A& HEE A 1 Ealigt 2] a(x - b)(x - ¢)
A o, abe O] F2?
® 5 @ 12 ®)-36 @ 36 ® -18

S8 \
A Aol 2x2 - 14x - 36 oA 443 -36 & FA| HokL,
FAOlE 247 — 6x + 4 oA x O AlF -6 = LA HSkTh
webA] 2x% — 6x — 36 = 2(x — 6)(x + 3)

La=2,b=6, c=-3
..abc = -36
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a® +36b — 12ab - 25 5 F A2} 9]

o] gg o

D a-12b @za —12b
@ 4a-12b ® 5a-12b

To=

® 3a-12b

B

(F4]) = a® - 12ab + 36b> - 25
= (a—-6b)>-25
= (a—6b+5)(a—6b-5)

" (@—6b+5)+ (a—6b—5)=2a—12b




A4 2160 -1 2 30 3} 40 Aol o] T Aol ©Jste] Lol dolx]
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2160 -1

= (280 +1)(290 + 1)(220 + 1)(210 + 1)(2° + 1)(2° - 1)

2160 —1 & o] GojxA sh= 4= F 30 I 40 Afo] Y] =
25 +1=233 3725 -1 =31 o[t}

533+31=064




9. a+b=-2ab=-15< W, (a-b)? 2 7

@® 36 @ 45 (@)64 @ 81 ® 121

(a—b)2 = (a+b)? - 4ab = (=2)2 — 4(-15) = 64




10. x-y=4, xy=1 o, x4 xy+)? & Fateiet
=

>
> &= 19

od -

P+xy+y? = (x-y)2+3xy
=424+3x1
=16+3=19




11, (3-2v2)" (3+2v2)"" & Ao,

(EA)=1((3-2V2) (3+2v2) 101 =111 =1
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o] g3to] thd & 4= B- 104 9| 3k F5HH?

A=18x25-18%x23, B=212-2x21+1

O 400 @ 360 ® 200 @ 160 @40

A=18(25-23)=18x2 =236
B =(21-1)2 =202 =400
. B—10A = 400 — 10 x 36 = 400 — 360 = 40




